C:h Lattice 3 by 2

Name:

Use lattice multiplication to solve each problem.

b 636 x 32 = 2) 339 x54 =

Answers

/ 7 7 7 7 7 7 s s
/ ’ / /s 7 7 7 s Vs
4 7 7 4 7 7 4 4 2.
s 7 s s ’ 7 7 7 s
7 /s s s ’ s 7 ’ s
s / Ve
, // // // , // // // , // // //
/7 7 7 V2 4 7/ 7/ ya / 7 Vi 3
/ 7/ V2 7 7/ V 4 4 / .
/ 7 7 7/ 7/ V /7 4 /
s 7 , s 7 , / 7 ,
s s , 7 s , s s Vs
s s s 7 s y Ve s
4.
5.
4) 5) 6)
525x91 = 768 x 79 = 686 x 73 =
6.
s s s s s s 7 s s
/ 7 / s 7 7 s / 7
’ ’ ’ ’ 7 s s 7
’ ’ , ’ ’ ’ ’ , , 7.
7 / s 4 7 s 4 7 7
4 ’ ’ 7 4 4 4 s 4 4 4 4
// // // /, // // // // // // 7/ //
7 7 , / s ’ 7 7 , 8
7/ 7/ Vi 7/ 7/ V 7/ /7 / -
s 7 , s / P 7 / ,
7 7 , 7 7 , 7 7 ,
7 s y 7 s Vs 7 7
9.
10.
) 675 % 69 = ) 714 x 45 = ) 389 x 41 =
11.
/ 7 7 7 7 7 7 7 7
/ ’ ’ s 7 7 7 7 s
// // // // // // // , //
4 s s 4 s s 7 ’ s 12.
7 7 7 , 4 7 7/ 7 4 7/ 4 7
s 7 Ve
, // // /, , // // // L, // s /,
s s s, 7 s , Ve s s,
7 7/ 7 7/ 7/ V 7 4 7/
s 7 , s 7 , / 7 ,
s s V: 7 s , s s v
s s s 7 s y Ve s
10) 11) 12)
135x 24 = 363 x 59 = 417 x 39 =
7 7 7 z s s 7 s s
/ 7 7 s 7 7 s 7 7
/ 7 s s s s s ’
s s s 7 ’ s 7 /s s
7 / s 4 7 s 4 7 7
7 / 7
, // // // , // // // , // // //
7 7 7 V2 4 / / 7 4 7 ,
7 e 7 7 /7 7 4 4 e
/ 7 s, 7/ 7/ 7 7/ 7 7
7 7 , s / P2 7 7/ ,
s s , ’ s , s s ,
7 7 y 7 7 v 7 7

1-10
11-12
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Answer Key

Name:

Lattice 3by 2
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